gussty (FFEH ) T208 (128)29H =

Z2Ouy =H 2 A CIRE I
&l 159 = A HE 1S
o CH (/381 2/3) Al 14:40~15:20
2 20234 12% 20234 128 27¢
o o stSLIES otistn 20 9= 2Es 222 HEH
T o2 X8 B HOl SE26lE= KS80t.
xt p.
A =5 = (%;; ;mﬁ)
1 12/1 MEZ JE B LORD| - SHIH, ZD P
2 4 olE gaaolE - & 1Eg 2= 1o|J|/ZPA
3 5 UEZIR SEN)] - YYH S=9 ¢H ¢
4 6 0ld L0 - YN 2= SA Y 20D o
5 8 QEMEQ YUY QBME =)} =
6 11 0l AIY0IS- QEREZHY, 31, 0|8 37
7 12 QEME S| 12l - QEME HE &
8 13 0lE LIH0IE - QENE B =)} &
9 15 oI ARl MBS - p] M-,
10 18 OlE §0IS - 02 B2 0|28 I & os))
11 19 Zoio 37| & Olaiatdl - E Ol =
12 20 ISR=RE = SA@BID|, 018 &
13 22 EBES el - oD, JIEER /R 018
14 26 2 D2|E 0l5H5HD] BEAIDL BHE R
15 27 0ld YOOI - D= e/ MISEE/ 22 S8 H2D






